aining blank pages.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the rem

50, will be treated as malpractice.
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2. Any revealing of identification, appeal to evaluator and /or equations written eg,

USN 10ES34
Third Semester B.E. Degree Exami rat on, June/July 2019
Network Analysis
Time: 3 hrs. - ® /. Max. Marks:100

Note: Answer any FIVE full questions, selecting
at least TWO questions from each part.
'PKRT A
1

Fig/Q1 (a) (06 Marks)

b. For the network. shown Fig Q1(b). Determing node voltage Vi, V2, V3, and V4. Using nodal

analysis.

Fig Ql(b) ’ (07 Marks)
Using Mesh analysis find the current through 102 resistor, as shown in Fig Q1(c).

Fig Q1(¢) (07 Marks)
Define the terms with examples : "3
i) Tree ii) Co-tree ° iii) Tie-set schedule iv) Cut set schedule v) Link. (10 Marks)

In the network shown in Fig Q2(b) consider branches 1, 3, 4 forming a tree. Write a tie-set

schedule and obtain equilibrium equatlons Hence in various branches.
6N

4 S
rov () a
P

Fig Q2(b) (10 Marks)

State and explain’super position theorem. (06 Marks)
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b. In the single current source circuit shown in Fig Q3(b). | voltage Vy, Interchange the
current source and res Iting ‘woltage V. Is the Reciprocity theorem verified? (08 Marks)
c. Use Millman’s thorem to find the current throu Y 10Q resistance in the circuit
Fig Q3(c). ; (06 Marks)

4 a. State and explain Thevenin’s f (06 Marks)
b. Find the current through 16Q tésistor using Norton’s: theorem in Fig Q4(b). (07 Marks)
c. Find the load impedanceito be connected across ‘terminals AB for the maximum power

transfer. The network;ﬁl shown in Fig Q4(c). Also: ﬁnd the maximum power delivered to the
load. ‘ (07 Marks)

Ly O
348

111) Half power frequency iv) Bandwidth.
(04 Marks)

5 a. Define the terms : 1) Resonance

(08 Marks)
(08 Marks)

steady state befo,

b. For the network shown in Fig Q6( ) the sw1tch is moved from position 1 to position 2 at

' : di d’

— 2,att=0.
dt dt

(10 Marks)

T

Fig Q6(b)
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7 a. The network shown in Fig Q7(a) was in steady state befo = 0. The switch is opened at
t=0. Find i(t) for t > 0 using Laplace transform. (10 Marks)

b. For the nework shown in Fig Q7(b) find the voltagé ac rbss 0.5Q resistor, when the switch is

v

opened at t = 0. Assume all initial conditions zego (10 Marks)
{,4 054
ﬁ ' .L

W TlF‘

|

Fig Q7(a)

&

(10 Marks)

(10 Marks)

s
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